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1 A worker helps bring the best output by using the
available resources. Such a worker is called

FIFAT 3T FHTYATT TR F&e] Falcdd IcTeed
JTOTOITH HGA Hal. AT HIFHIRIT FEUTATd.
A Ineffective 3T9HTdY

B Productive 3cdigeh

C Bad arse

D Selfish Faref

Answer: B

2 Who gets the benefit of increased productivity?
aIéld IcqTeehadr o STl fABAT?

A Government (R

B consumer/worker Tgeh/shIHI

C Bussiness <Iadrg

D all of the above @il T

Answer: D

3 One can be efficient at the workplace, if he/she__.
TEIE! SqF AT TSl HrRIETA 31 Ahd, N
arvdr__ 3@

A Is punctual &g 38

B Follows rules &M greled &dr

C Follows safety procedures {&il Ffshar Arelel el
D All of the above afer &d

Answer: D

4 Safety includes .
SNERCTE FHIRE 3.

A Proper housekeeping Jia agcgaEAT

B Proper storage and handling of tools and
equipment HTUa 31O 3YHI0T A9T TSRS 0T
RHGIC

C Use of appropriatePPE 319 PPE 4T amaX
D All of the above a&iar &4

Answer: D

5 Growth of an organization, is growth of
eI are Fgorer @Y are.

A An economy 3deTaedr

B A political party TSI 98T

C A labour union FFIR FEEAT
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D None of the above alreidehr &IEer =iTer

Answer: A

6 The economic growth of a country is

gemrdr e are 3TE.
A Increase in the population dhTEAdIe a6
B Increase in the production of goods and services

aE 30T Jarear Sculeed dle
C Increase in size of families W HHRIT dle
D None of the above alierdshr FTEIET ATer

Answer: B

7 Work becomes more efficient with

HE Y S HRIGTH Feld.
A Population growth S&HEAT ale
B Expansion of trade unions &R HEcATT TAEAR
C Teamwork and collaboration &#Faa 3ToT FEAT
D Becoming a developed country fasfad &ar s=or
Answer: C

8 Expansion of GDP .

Sy ERELGIcE

A Gross Domestic Product IITq 3AFes Wisae
B Good Domestic Product [ SiAREes Hisac

C Great Domestic Product 3 3#¥ed W

D None of the above afierdsir FEIET ATET

Answer: A

9 Economic growth is measured by the increase in a

country’s total output or real .

3 aTe GATeAT UHUT ST alG fohar aredfaeh
g Aoty I,

A Increase in the population RIS aTE

B Gross Domestic Product Hehel S2ideld 3cuTeet

C A political party Tl ST 3caTgeT

D Expansion of trade unions &R FgcArar fAEdR

Answer: B
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10 The process of transforming ourselves for a better
physical, social, intellectual state is called

gETedT AR, AHTSS, sifged JaedaTdr Tad:aAed
gRadeT FRoaTAT Ufshder FEOTATd.

A Union member Ifadel e

B Good working dRTel HH &Rd 38

C Personal growth d3fFd® are

D None of the above TIeTUhT FIEEr AT

Answer: C

11 The effort taken to learn new skills and

technologies, helps to .

AT HiAed 0T daaA RAFUIATST gdelel Tl
ol Hcd h{dld.

A Grow in our profession 3THTIAT <IGIARITA dle

B Become a union leader {Iﬁl’q?-r CIELEH )

C Be close to political leaders ISR SAcAT<dT Sdd

Ll

D None of the above iU FIEIET AT

Answer: A

12 Team work helps to

A TH o Hed .

A Learn from peers GHaIEhIhg R

B Collaborate with other employees 3R HAARITHE
HEIeT HA

C Be efficient at work SHIHATT HTAETH <l

D All of the above afler &d

Answer: D

13 Pomodoro is a technique that can be used for

9IAERT § Th oF 3 of IS ARl A3 ehd.
A Working in teams THHEY HIH HIOT

B Mechanical jobs #Afasher dAlear

C Time management d& SIIEATIA

D Making machines do the work &fFer FNT FreT
CRGIGE

Answer: C

14 Pomodoro is the ltalian word for

QAERT @ T serfodsT e 378,

A Tomato erHer
B Potato serer
C Brinjal arfr
D Onion ier
Answer: A

15 How many stages are there in Personal Growth

FafFas adiad fopd o= 3mga .
A Two GlsT

B Three e

C Four IR

D Five 9ra

Answer: D

16 Transforming ourselves for a better physical,
emotional, intellectual, social and financial state is

aierear AR, srafas, difgs, awfes 3o nfds
RIS TaT:-HET IRaciel 0T FguTat .
A Company's Growth &Y=l a6

B Personal Growth 3ufFds dare

C Economic Growth 31fd& are

D None of the above afierddhir FTEIgr ATEr

Answer: B

17 As organizations grow, they need to

Fel O aredrd, T TGRS 3Te.
A Become satisfied with the existing technologies
HEATAT AL AT g1

B Stay updated with changing technologies d¢elcar
GENIGIE K CURICR RS

C Use manually operated technology Tag¥d 3iTWRe
holel dAeleT aToRT

D None of the above aqierdehr FTaIer ATar

Answer: B
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18 As technology changes, organizations need to
dIaTeT Scold 3T, AT 3ETH 3R,

A Buy high-end machinery 3Ta gart AT @ET
El

B Train employees periodically S&aar=ai-T d3da!
GRI&ToT gAr

C Conduct safety training for employees HHAIATE!
GR&T JRIEToT IS T

D All of the above afer &g

Answer: D

19 Identify which is not a good practice for people
management____ .

dleh STTEATIATHTS! HIUT T TAT ARGl of

JaaEr

A Involving employees in the development of
business cITHTATAT fAFTHTALY HATRATAT HEHTT

B giving memo for every mistake Ycdeh TehIATST HAT
&l 3me

C communication with employees &HaaRRM Fdg

D offering employee leave FHARIAT TS & 3T

Answer: B

20 Once the problems have been identified, we need
to break them down into simpler elements becasue
we can the solutions.

Uehe] JHEAT @Al AT ST, JTTedrell T Jream
UCHALY HAIZUI HGTH Hlg HRUT HGOT 39
Qe el

A change dcol

B identify 3ita@r

C criticize &&T adrd

D remove Tl

Answer: B

21 Filling out a form by answering questions is a
part of .

TREATE 3ccd Il BIH HIOT BT

3Te.

A Accounting a@r

B Costing ITecaT

oIl Teh HATIT

C Exam 9iem
D A questionnaire survey Teh 9ATdell Tdafor
Answer: D

22 The challenges faced by migrant workers are
__ any other workers.

FUATART FHAIMRIGANT Mgl $AT FHIHIR
3T d.

A much more than & TJ SIrEd

B same as HHATA

C not as important as fdde #Hgcard =gr

D all of the above Tl TS

Answer: A

23 One of the key reasons identified as affecting
migrant labourers most is )

TIATART HRI=AT Faeeh FeAfdd FIOR FoW
FHROMYST Teh FgUTal :

A Lack of literacy @T&RdT 37871d

B Bad habits arse daY

C Laziness 3"

D Forming groups ¢ ddR 0T

Answer: A

24 1t is the responsibility of the _ to provide

water, power and other basic facilities to the

workforce.

FIHAIRIAT aroft, drst JfOT SR el FhaeT gRaor &
o ST 3R,

A Government iR

B Employees HART

C Management cIa&ATqeT

D None of the above aqIerdehr FTaIgr ATar

Answer: C
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25 When workers are migrating, companies should
conduct .

SAET FIHIR TAATART 8idid degl duedielr
JTROT 0.

A a formal induction programme 3igaTites 9oT
FIHH

B a safety training programme Ush {I&T gfereoT
FIHH

C a cultural programme HiEhide HrIHA

D an informal meeting T& 3=ITaTe d&&h

Answer: A

26 is helpful for collecting employee feedback
and understanding them.

FHSA OUIMHTSY 3T 3Te.

A Employer surveys faierdr adeor

B Employee surveys &Rl Hd&ToT

C Product surveys 3cdiee Tdetor

D Process surveys 9fshar Fd&ToT

Answer: B

27 Lack of productivity is a serious threat to any
society. It is caused by waste of __ .
3cUTGehddT 3THTT T DIV THATSITHTSN IR et
3Me. ¢ I 9T ar o gid.

A Time d&

B Resources HdT

C Investments I[TdU[H

D All of the above afler &d

Answer: D

28 When a company is not productive, it has a
_ effect on its employees and society.
SIcgT UEIET &9el 3culeeh A9d, degl fa=ar
afoms faear AR 3o FATmaR g

A Negative dhRTcHAS

B Positive difSifeeg

C Neutral dec¥g

D moderate #ALIH

Answer: A

29 Irresponsible employees of any company create

HIVICIART FIAT SSAAEEGR FHANT _ dIR dTd.
A Loss to the company deird FehdTel

B Affect the environment gaTaRomax aRome grar

C Waste resources HETE aJehdlel

D All of the above Il ¥4

Answer: D

30 Low productivity leads to
HHI ScaTEhIHD g,
A low employment &#Y AR
B low investment &#Y J[AUH
C low saving &#T sad

D All of the above a{ier ¥d
Answer: D

31 Maintaining and improving productivity is a

____ process .

SCIEshdl IWUT 30T FUROY & Th ___ gfehar 31T
A Quick STelg

B Temporary dlcqid

C Continuous ddd

D One time Tdhar

Answer: C

32 Efficient productivity improvement techniques
ensure

HIAETH Scdleeha! GUROT dF Il WY .
A Individual’s growth STedT are

B organization’s growth TEJ=Y a1

C both an individual’'s & organization’s growth cgadr
3nfor §EA=N glegr a6

D none &ATEr

Answer: C
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33 What are the characteristics of workers who focus
on productivity improvement?

3cUTEehdl GURUATET &7 higd HIOTAT HIHIRI
RISy PO IMR?

A Teamwork &Has

B Vision fegata

C Goals e

D All of the above ader &9

Answer: D

34 Productivity is the __ of production systems.
3cUTGahdl & 3cdleel Yol 3718,

A Measurement HISTHTT

B Efficiency SreTedr

C Both measurement and efficiency AT9a 37TfOr
FRAGTAT alear

D None of the above aledehT FIEIET AT

Answer: C

3T °TE aY Blererd & & & Yol
P ACE TR &
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